( polarized I ight )
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Z

X Y
E(zt)=E,(z1)i+E,(z1) ]
E (zt)=E,, cos(wt—xz+9,)
E,(z1t) = E,, cos(wt —xz+0,)
K ( wave number )
@ ( angul ar frequency )
5, X
5, Y

(2.2a) (2.2hb)

Ex _ . .
£ = C0S7 C0SJ, —SINTSINJ,

Ey . _ . .
ETy_cosmoséy smrsmc?y

E . E, . :
*dng, ———sing, =cosrsin(d, —9,)

o, Eyy




X

y

(2. 4a)
2 E2
e~
EOX EOy 0x oy
0=06,-0, (y
(%)

E, = E,cosd—E, sind
E, =E,sind-E, cosd

(2.
E; E
Az TBZ

A’ = E;, cos’ 0+ E;, sin 0+ 2E,, E, cosS cosdsing
B? = E;, sin” 0+ Ej, cos’ 6 — 2E,, E,, coss cosdsing

(2.

6)

7)

(2.

(2.

E E, o
*-C0SS, ——-C0S0, =sinzsin(o, — J,)

4b)

E
Y cosd =sin’s

5)

(x.y)

(azimuth angle)
(eliptical angle)



2. 2

(1),-0

EX(Z,t) = EOx COS(T + 5><)
E,(z1)=0

X

(2, -0
E,(zt) = Ey, cos(z +3,)
E(zt)=0

y




(4)5:% 0B="

3r
2

Ep. > Eyy

o
W







2. 3 Jones Vector

Jonveesct or ( )




2. 4 Stokes Parameters Muel | e
Jonveesct or

Stokes Parameters

z = 0

E, (t) = Ex cos(wt +6,)
E, (t) = E,, cos(wt +5,)

Stokes Vector

MNP0,

S =B +E,
Sl:ng_Egy
S =2E_E, coso

0X oy

S, = 2E,E, Sns

E,. = E, cosa
B, =E,Sna

a ( auxiliary angle )



iy E,,
/ > ¢
( )

lO:E(f:EOZX-i_EOZy

Stokes Vector

s [ E+E 1 1
S| | Ex-Ey | cos’a-sin’a | cos2a
|S,| |2E,E, cos8 | °|2cosasinacoss | °|sin2acoss

S, 2B, Ey, sino 2cosasinasing sn2asino

(1)x
1
S=1 !
=lo/
0
(2)y
1
S=1,|
=lo| ,
0
( 3 w45°
1
0
S=1o[,
0

(2.
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1
0
S=lo| _,
0
(5)
1
s=1|°
= 1o
1
(6)
1
s=1| °
=1o| 4
-1

parameters

S =MyeS + My S + M, S, +MyS,
S =MmS + M, S +m,S, +m;S;
Sz =My + My S + M, S, +MeS,
S:e, =My S + My S + My, S, + M, S,

S| [Me My M, My
S| |mg my m, myg
S| My my m, my
S| [my my m, my

SN0 ;

Mu e Imaetrr i x

6 Muel l er

matri X

St okes
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M, (26

)

1 cos26
1| cos26 cos® 20

- 2| sin20 sin20cos26
0 0

sin26 0
sin20cos2¢ 0O
sin® 20 0

0 0
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2.5 (@, A)

r o h cosé, — n, cosé,
P n,cosd, +n, cosé,

" cosé, —n, coso,
n, Cosé, + n, cosé,

. 2n, cosé,
" n cosé, +n,cosé,

. 2n, cosé,
°  n,cosé,+n, cosé,

tang

13



(1) )
tangpgﬁm:rr—p:%éwp&s) (2.38a) (2.38
@ A N, n &
I =6,(
tzel( )
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= 125 2 -4 2,316
F="rg b€ ™7 +lythoo€ 7 +iglolhoha€ " +eeee

= i -i3p 2.2, 58
t =t +lotolol€ ™ + it hohse .+

B = Zﬁ(%jnlcosel n, cosé, :(nf—ngsinzgo)”2

d

lo1 0] 1
Mo 1 0
to, 0 1
b 1 0

1- M1 glzeii 2

(r10:_r01 t01g10:1_r021)
(2.40) (2.43)

-i2p <i2p
foap + 2p & ]F1+ l1sJ12s &

tanpg” = L4 T, Gy @7 Ty +1rp, €87
o A Ny n k
tang A "o &
n, d
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2. 6 Stokes Parameters Mu

Stokes Parameters

S$=RR+RR
S=RR-RR;
S,=RR;+RR
%:i(RSR;_RpR;)

PsPs+ PpPp PsPs = PPy 0 0 S

. ‘—p P ‘. p 0 0
S:i PsPs pppp PsPs pppp . . . . S- ( 2 | 8 )
2 0 0 PsPot PpPs  PsPp—PoPs || S

0 0 PsPp=PoPs  PsPpt PpPs S

P, = pstanpe®

(2.409) (2.48)

16



l+tan’p 1-tan’g 0 0 S

‘ “l1-tan®e 1+tan® 0 0 ,
g Lps|l-tEne lrtanty 2 (2.50
2 0 0 2tanpcosA —2tangsinA || S,
0 0 2tanpsinA  2tan@cosA || S,
(2.50)
1 COS2¢ 0 0 S
S.:ps_p;‘ COS2¢ 1 0 0 S (2.5
2cos’p| O 0 sin2pcosA —sin2psinA || S, ' |
0 0 Sin2psinA  sin2pcosA || S
(it sotropic sampl e ) Mu e |
1 CoS2¢ 0 0
M = COS2¢ 1 0 0
I 0  sin2pcosA —-sin2psinA

0 0 Sn2psinA  Sin2¢ COSA

17



Stokes vector

S =M (A)M(p,AM (P)S,

M (@,A)
(2.53) $eokes
|
| =I5(sin® Psin® A+tan® p cos” Pcos” A+0.5tan ¢ cosAsin 2Psin 2A) (2.54)
a B
o, f<10° (2.55)

A=tan’ p—2(2tan” pgr —sec’ ¢ taNg caA B)g
B =tan® p+2(2tan” pgx —sec’ ¢ BN caA B)g

B B A Ba

18



A=B=tan’p
2tan’ pgr —sec’ ¢ @ CapA S -0
B b a a

(2.56a)(2.56b)

(1)6=45
1050A Si 02/ Si

ﬂ:ﬁl:_lo

(2.56a)(2.56b) B o« A

A B @=0. 98 B =001 ay.a,
(2)6=75

(8.5 8)  (m.25.03) (@25 12
(28), 105 (e 8)
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2. 8 P S A@.A)
PSA ( Pol arizer Sample Agalyzer )

M (p) M (0.4) M (A)

| = I5(sin Psin® A+tan® p.cos” Pcos” A+0.5tan ¢ cosAsin 2Psin 2A) (2.59)

tan o COSA Iy
Me yetr. alP=45

| (A)= 5008 (A= )+ sin* (A )

PSA Meyer
P =45
I(A):%Io(sin2 A+tan® pcos’ A+tanpcosAsin2A) (

| (A)=Lcos’(A—f,)+Tsin?(A—B,)=05[ (L+T)+(L-T)cos2(A-3,) ]
(2.62)

(2.61)(2.62)

20



14577 cos2/3,
taI’IZ(D _ L+T
1- LT cos23,
L+T °
cOSA = — tan24,
tan 2¢

A=0" A=60" A=120°
1(0)=05[(L+T)+(L-T)cos2, |
1 (60)=0.5[(L+T)+(L-T)cos2(60-3,)]

| (120)= 0.5 (L+T)+(L-T)cos2(120- 4,) ]

V3[1(60)-1(120)]
21 (0)-[1(60)+1(120) |
L-T 21 (0)—[ 1(60)+1(120)]

Lo 2= (0)+1(60)+ I (120)

tan24, =

(2.69) (2. 639

(2.64) A

(2.

68 )

21



P a P=45"+a

A A+ (2.61)

| (A+ B,a) =05l [sin*(A+ B) + tan’ pgos’ (A+ S) +
(sin*(A+ B) —tan® pgros’ (A+ ) ) N 22 +tanp cagA SingA cos 2]

= Lcos’ ((A+ ) - )+ Tsin*((A+ B)- ;)

— i —g 2
L-T 02— ) = (1+§|n2a)+(1 'sm2a)gar; ? _rg
L+T (1+sin2a)+(1-sin2x)gan® ¢
tan g = (1+sfn2a)g(1+ RB)
(1-sin2a)d1- RB)
RB (2.71)
—45° P=-45+a

| (A+ S,a)=Lcos’((A+ B) - S,)+T sin’((A+ B)- 5,)

L-T —(1-sin2a)+(1-+sin2a)gan’ ¢ _

——C0s2(f, - B) = (1-sin2a)+(1+sin2a)gan’

RB
L+T

(1-sin2a)q1+RB)
(1+sin22)d1-RB')

tan® o =

(2.72) (2.75)

- {(u RB)d1+ RB:)}%
(1-RB){1-RB)

22
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a=0
tan 23, = —tan 2pFosA

tan 23, = tan 2peosA
Bo+ By =180 ;2{900_(@;;%}}

_—tan2p
tan 2¢

COSA

az0

tan2(5, — f) = —tan 2pF0SA @s2a | ¢ COSZ(_D
C0S2¢ +SiN2a

tan 2(B, — B) = tan 2pLosA @S2« | -g COSZ?
C0S2¢ —Sin2a

2sin2a

tan2(B3, — B) +tan 2( B3, — ) = tan 2pgosA @SZQ(CQOSZZ(p—sinZZaj (2.82)

Bo+ By -2B=180"+5

B=[180 (5~ B)+ (5o B) |1 2=[180° - 5+ 5, ] 12

_—tan2p
tan 2¢

COSA

23



2.10

(2.72) (2.

(1-sin2a)

(1+ RB)(1-RB) _

(1+sin2a)

|

(1- RB)(1+RB)

75)

A

24



CCD CCD
CCD P
( )
3. 2
( I gser MEGRIEGT 5 mw 54
deteqgtor Newport Mo d el 818 -
2449
( TwoMAXXiCemtr gl |l er Model 08THC:
NO C99039
CdDCharge-Coupled Device )
Xpress Mo del MX516 16 bit CCD

( pol arizer ) MELLES GRI OT
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(1)

(2)

(

> 123456

GPIB

mul ti meter

3

)

GPI B
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360°

50

GPIB

12345

10

27




3. 6 CCD

cCCD (f) 100mm

3.7 CCD

Gaussian Bmbobeher

Gaussian Smoot her

(1) CCD 6
(2)
Gaussian Smoother Filter
GausSmaat her Filter

3. 8 CCD

cCCD CCD

5/ 1000 sec

sec 5/ 1000 sec 5/ 100sec

28
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CCD

P =+45°

10

A(

P =-45°

1050A
SIO2/Si

GPIB

(

OO

+45°)

60°

70°

120°%)

12345

(

—45°)

S0,/S

1030
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(1) 45° 45°

1. A Q° P +45°  -20:1°:2° 1°
P —45°
2. A 9 P +45° —20:1°:2° 1°
P —45°
3. A £ 90° +1° (1) (2)
(2) 75°
3. 11 (0.
//\\

.

CCD

USB
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PSA P P = +45°

A C@H° 60° 120°
1 (0) 1 (60) 1(120) ( 2 .teBy)
A P=-45 A
CCDA=0" 60° 120° I > (0)
> (60) | ' (120) ( 2. 8)tng A
P=+45"  P=-45 ( 2.9)

tang A
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( mw) ( mw)
0.607 . 004
0.612 . 004
+1%
4 . 2
360° 5°
.25
1"“1-.
02 ‘4* : " :
imtensily : + : *
TR L] S * .
" ¥ # *
(AR & *
+ +
005 "+ _' "* :
o L “‘*-Iu---':L v ;
0 10 ol 0 a0 £ &0 0
0.233823mw
0. 000953 mw
degree of pol%ﬁﬁia‘ﬂza:tiogrQQ:l
= 0.996
4 . 3 CCD
12 CCD



W72 i L 1 o
[ETSFISE o5 4
i, ?E{Hﬁh?tpyf

Al mwm= pF s s

4 CCD

GausSmaaot her Filter

Gaussian Smoot her Fi

Gaussian Smoother Fi




&y | 3 LS ER

Gaussian Smoother filt@t

4 . 4. 3 Gaussian Smoot her Filter
X (Y=50)
Gaussian

Smoot her Filter

sem® 000 PE— L

=1 » - . = L - L}
i I B 5 4 @ = = P e
. e " a R T i e Vo s T R Ao
o oIt ot IS Mk, o g ey ot = -

Ga u sSsmoaont her Filte
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[, /1 1.010 0./]1011 1. 008
I,/1 1.002 0./008 1.000
1,71 0.990 0.|007 0. 988
1, /1 1.0009 0./011 1.006
I5/1 1. 003 0./008 1.001
Gaus iod rm eSenrF i
5 CCD
cCCD gray evel )
w0’

65538 -

5.5536 .

b.5535 |

GE5M 1]

EEEH-!;---"";-'--:.'
100

X
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E553E

G 556
=3 o
5535
S

G553

EEEE
BEAS
EEEM

EE53

E_E i K i i
3!12!] o XA X O MD O A) M) oD x M0 N0
He-gmig [ =idl]

65535 0

CCD gr(fay | evel )

5/1000s e C 5/100s e C 5/10s e C

X (Y=50)

5/1000s e C 5/100s e C 5/10s e C

- -
R . . E— - W — |
- ] oul ] - ]
o) ] ol ] o) ]
o) ] ol ] o) ]
m ! ! | el i | x| 1 |
o | III a1l = .I' Lf I.I ik maf | i I".' 1 ..II |
v A Jijl) . Uit | . Iy | |
v | " | ru| f “ - {
v ] al v

: i ! e e s e e : i



X (Y=50)

49
18

. 26

(sec)

5/1000 2185( 03 18.

5/100 2187 ./43 17 .

5/ 10 2187.01 14
2188 65535

P

®

CCD

CCD
(B ——

P=+45" P=-45 7

P =+45°
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e () X Y
P = +45° 39. 38 251 137
P = —45° 41.13 246 146
X Y @
X 300
P =+45° (X,Y) = (101:401, 137)
P=-45 (X,Y) = (96:396, 146)
Y 200
P =+45° (X,Y) = (251,37:237)
P=-45 (X,Y) = (246, 46: 246)
P =+45° (0)
P=-45 *)
X ©) Y

P=+45" (X,y)=(101:401,137) P=+45" (X,y)=(251,37:237)
P=-45" (X,y)=(96:396,146) P=-45" (X,y)=(246,46:246)
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P=-45 X @ Y @

P=-+45" (X,y)=(101:401, 137) P=+45" (x,y)=( 151,37:237)
P=-45" (X,y)=(98:398, 150) P=-45" (X,y)=(248,50:250)

P =+45° (x,y)=(251,P=3479)

(x,y)=(248, P50 P=-45
CCD - X 3 pi xel +y
pi xel @
Y @

X ) Y
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10 5?\03'02/3 45 75° Yij a
B a
- 0.98
45° 0 0.01
1 - 15
- -0.52
75° 0 0.05
1 0.71

(2, ) =(-0.08,003) «

-0.02

-0.04

-0.08
alpha

-0.08

-0.1

012

014

32 B4 (0.0302 -0.079)

1 1
-0.Mm 0 0.m

|
0.0z

1
0.03

beta

1
0.04

1 1 1
oos 008 007
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4 . 8 (@, A)

CCD

CCD

CCD P=+45" A=0° A=60° A=120°

P=-45 A=0° A=60" A=120

A=0° A=60° A=120°
P=+45 4360 25/394 3516
(293, 145) ([293,145) (
P=-45 4158 33317 2554
(281,171) (]281,171) (

P=4+45 (X, Y298, 145)pP=4° (X, Y0281, 171)
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4. 8.1 (9,4

A0
45 1) A

p=+45" p




P

Be o a6 8 & =

. 8. 2

L L

(@, A)

X (Y=100)

X (Y=100)¢

L]
|a .
1) i
o —.‘!
(=R ] ¥ -'\"‘-.- —_— 1
8] 5 i
] §
iF@ §
wa I
i {
r] 1
1 R R W e e

]

HH

Hid

W=

ifd
e

Y (X=100)

Yo (X=100)

X

(Y=100)

X=100)

()

147

0. 08

. B9

.13 8

0.09

. k9

4 2

134




X (Y:100)A Y (X=100)

X P=+45 A P=-45 A
B
X (Y=100) (IX=100)
() ( ()
p=+45° 115 71 .08 115/. 95
p = —45° 111, 34 . 04 111]. 22
113.50 .28 113.55

45
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'.-|i .
% e e “u X
X (Y=100) (X=100)
X (Y=100) Y ([X=100)
0 0 0 0
(A) R) A) A)
p=+45° ( ) 2638 13 262 6
=45° ( ) 3138 10 315 7
( ) 2 8|9 3 290 3
0
* 297+6A
Standard Deviation. : 6. 578E- 4
Angle(deg) ... .: 75. 408011 + 0.000429
Thi ck (pm) . .. .: 0.029715 + 0.0005814



4. 10

P=+45" P=+45 X
(Y=100) Y (X=100 )k
94
X (Y=100) Y (x=100)
] ]
()
X (Y=100)) -0./10
Y (X=100)) -0./08
o =-0.08° X a=-02 Y
a =-0.08°
a#0 @ @
(@, p)
@ @ A
(@, p)
a=0

a7

. 05
. 03



B, + 3, =180° a =-0.08 By~ B =9.04°

Bo— B =172.55 Bo+ B —28=18150°2180° B=-08 JB=825" p
A P=+45 P=-45
A B P=+45" P=-45 A
4. 11 Gaussian Smoother Fi

Y (X=100) Gaus SSimomtFhdn er

¢ Gaussian Smoother Filter

a a
ﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂ

1 & & B & " X |4 ¥ | am 1 3 @ | &5 T OIx | W e am



Gaussian Smoother Filter

Gaussian Smoother Filter

D% ommadiia NI p, Sy

Gaussian Smoo
) 18. 37 0./35 18. 34
A 113. 83 2| 85 113.55
285 31 290
a -0.009 0./, 56 -0.08

Gaussianhé&rdFer
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(@, A)

CCD
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pado

id, "’

pae6

id, "’

pal

id, "’

i d,

12;

pal

MATLAB
()

2D
clear al/l
fid=fopen("
pa=fscanf (f
fclose(fid);
fid=fopen("
pb=fscanf (f
fclose(fid);
fid=fopen("
pc=fscanf (f
fclose(fid);
fid=fopen("
sa=fscanf (f
fclose(fid);
fid=fopen("
sb=fscanf (f
fclose(fid);
fid=fopen("
sc=fscanf (f
fclose(fid);
for i=1:1:5

pal=p
pbl=pb(i);
pcl=pc(i);
sal=sal(i);
sbl=sb(i);
scl=sc(i);
pPRB(i)=((2"
sRB(i)=((2*

—

anphi 1(i) =

sal

sqgr

+ 45 P =¢ -A 45

Stxt )

%g "' ) ;

I .t xt ')
%g ") ;

Ol . txt"');
%g "' ) ;

" %g ')

.t xt ')

" %g ')

ol . txt"');

" %g ')

t

(pbl1+pcl))./ (pal+pbl+pcl));
(sbl+scl))./ (sal+sbl+sc1l));

(((C1+pRB(Ci)).*(1+9RBCi))) ./ ((1-pRBI
52



tanphi (i )=sqrt(tanphil(i));

phi(i)=atan(tanphi (i)).*180/pi
tanbetal(i)=(sqrt(3)*(pbl1-pcl))./(2*pal-(pbl+pcl))
tanbeta2(i)=(sqrt(3)*(sbl1l-scl1l))./(2*sal-(sbl+sc1l))
betal(i)=atan(tanbetal(i))*2180/(2*pi);
beta2(i)=atan(tanbeta2(i))*180/(2*pi);
beta(i)=(180-beta2(i)+betal(i))./ 2;
cosdelta(i)=-(tan(2*beta(i)*pi/180))./tan(2*phi (i)
delta(i)=acos(cosdelta(i))*180/ pi

end

for i=1:1:512,;
pal=pa(i)
pbl=pb(i);
pcl=pc(i)
sal=sal(i)
sbl=sb(i)

scl=sc(i);
pRB(i)=((2*pal-(pbl+pcl))./ (pal+pbl+pcl));
sRB(i)=((2*sal-(sbl+scl))./(sal+sbl+scl));

pPHI 2(i)=(1+pRB(i))./ (1-pRB(i));

sPHI 2(i)=(1+sRB(i))./(1-sRB(i));

pPHI (i )=sqrt(pPHI 2(1));

sPHI (i)=sqrt(sPHI 2(i));

PHI p(i)=atan(pPHI (i));

PHI s(i)=atan(sPHI (i));

PHI 2p(i)=(2*pPHI (i));

PHI 2s (i )=(2*sPHI (i));
p2BO(i)=(sqrt(3)*(pbl-pcl))./ (2*pal-(pbl+pcl));
s2BO(i)=(sqrt(3)*(sbl-sc1))./(2*sal-(sbl+scl));
pBO(i)=atan(p2BO0(i)) ./l 2+pil 2;

p
sBO(i)=atan(s2BO(i)) ./l 2+pil 2;
pCOSDEL(i)=-(p2BO0(i))./tan(PHI2p(i));
SsCOSDEL(i)=(s2Bo(i))./tan(PHI 2s(i));
pDEL(i)=acos(pCOSDEL(i));
sDEL(i)=acos(sCOSDEL(i));
pBOD(i)=pBO(i).*2180/pi ;
sBOD(i)=sBO(i).*180/pi;
pPHID(i)=PHI p(i).*180/pi;
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SPHID(i)
PDELD( i)
sDELD(i)

end

i =1:1:

figure(1l)
pPHID(Ci ), " 'r'

pl ot (i,

figure(2)
pDELD(i ), "' r'

pl ot (i,

clear

dat al-=
dat az2-=
dat a3=
dat a4 =
dat ab=
dat a6 =
pa=dat
pb=dat
pc=dat
sa=dat
b=dat
c=dat

- n o

or i =

j =
pal=pa
pbl=pb
pcl=pc
sal=sa
sbl=sb
scl=sc

a
f
f
f
f
f
f

(
(
(
(
(
(

pPRB(i, ]
SRB(i, |

pPHI 2(

P Y 929 2 9 9 O

512,

N N

N |
N—r N N

=

O O O O O o =

=PHIs(i).*
=pDEL(i).*
=sDEL(i).*

180/ pi ;
180/ pi ;
180/ pi ;

= + 45 pP A=
ead(' paOb. fi
ead(' pa60b. f
ead('"pal20b.
ead('salOb. fi
ead('sa60b. f
ead('sal20b.
2: 250, 150
2: 250, 150
2: 250, 150
2: 200, 170:
2: 200, 170:
2: 200, 170:

N N N N N N -

(
(

N NN DNDNDN

£

,SPHID(i)," 'b"

,SDELD(i)," ' b"

45

s phi (i), k)

,delta(i), "' k'

)

2*pal-(pbl+pcl))./ (pal+pbl+pcl
2*sal-(sbl+scl))./ (sal+sbl+sc1l
=(1+pRB(Ci,j)). /7 (1-pRB(i.,j));
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sPHI 2(i,j)=(1+sRB(i,j))./!lT(1-sRB(i,j))
pPHI (i ,j)=sqrt(pPHI 2(i,]));
SPHI (i ,])=sqgrt(sPHI 2(i,]j)));
PHI p(i,j)=atan(pPHI (i, ]));
PHI s(i,j)=atan(sPHI (i, ]));
PHI 2p(i,j)=(2*pPHI (i ,j))./l(1-pPHI 2(i,|j
PHI 2s (i ,j)=(2*sPHI (i,j))./l(1-sPHI2((i,|j
p2BO(i,j)=(sqrt(3)*(pbl-pcl))./(2*pal
s2BO(i,j)=(sqgrt(3)*(sbl-scl1l))./(2*sal
pBO(i,j)=atan(p2BO0O(i,j))./l2+pil 2;
sBO(i,j)=atan(s2BOo(i,j))./l2+pil 2;
pCOSDEL(i,j)=-(p2BO(i,j)) ./l (PHI2p(i, ]
SsCOSDEL(i,j)=(s2BO(i,j)).!l (PHI2s(i, )
pDEL(i,j)=acos(pCOSDELC(i,]));
sDEL(i,j)=acos(sCOSDELC(i,]));
pBOD(i,j)=pBO(i,j).*180/pi ;
sBOD(i,j)=sBO(i,j).*180/pi ;
pPHID(i,j)=PHI p(i,j).*180/pi;
sPHID(i,j)=PHIs(i,j).*180/pi;
pDELD(i,j)=pDEL(i ,j).*180/pi;
sDELD(i,j)=sDEL(i,j).*180/pi;
end
fil=reshape(pPHI D, 80, 80) ;
f2=reshape(sPHI D, 80, 80) ;
f3=reshape(pDELD, 80, 80) ;
fd=reshape(sDELD, 80, 80) ;
k=1; s=1;
for 1 =1:80;
c(k)=i;
k=k+1;
for j=1:80;
d(s) =j;
Ss=s+1;

end
end
e=reshape(d, 80, 80) ;
el=transpose(e);
figure(l)
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plot3(e,el, fl)
figure(2)
plot3(e,el, f2)
figure(3)
plot3(e,el, f3)
figure(4)
plot3(e,el, f4)
rotate3d on
grid on

datal=fitsread('"palOb. fit");

dataz2=fitsread('pa60b. fit"');

data3=fitsread('pal20b. fit"');

datad4=fitsread('salOb. fit");

datab=fitsread('sa60b. fit"');
e

sread('"sal20b. fit");

80:2:280,1:4:400) ;

I

t
t
t
t
t
t
(
(

pc=data3(80:

(
(
(
1
1
1

pb=data2(80:2:280,1:4:400) ;
2:280,1:4:400) ;
sa=datad4(50:2:250,1:4:400) ;
sb=datab5(50:2:250,1:4:400) ;
sc=data6(50:2:250,1:4:400) ;
for 1 =1:100;
] =1: 00;
pal=pa(i,j);
pbl=pb(i,j);
pcl=pc(i,j);
sal=sa(i,j);
sbl=sb(i,j);
scl=sc(i, )
PRB(i,j)=((2*pal-(pbl+pcl))./ (pal+pbl+pcl
sRB(i,j)=((2*sal-(sbl+scl))./ (sal+sbl+scl
tanphi 1(i,j)=sqrt(((1+pRB(i,j)).1¢8RBRB(I

1)) ) )
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tanphi (i,j)=sqgrt(tanphi 1(i,j));

phi (i ,j)=atan(tanphi (i ,j)).*180/pi ;
al(i,j)=(saqrt(3)*(pbl-pcl))./
(sqrt(3)*(sbl-sc1))./
—atan(tanbetal(i,j))*180/
—atan(tanbeta2(i,j))*180/
beta2(i,j))+betal(i, |
(tan(2*beta(i,j)*pil
—acos(cosdelta(i,j))*180/

t an
t an
bet
bet
bet
Cos

del t a

—- = —h —h
]
RN

nd
=T
1 =
i g

T ™ T ™ ®© ® O

N -
|

be
be
al
a?2
a (
de

e

_;
- n o O
1

(@]
=~ —~ |

en

€es
tr

t
t
(
(
i
|
(
n
s
s

h
a

ape
nsp

ure(1)

[

|l ot 3(e, e
igure(2)
l ot 3(e, el

rotate3d

gri

cl e
dat
pa=
x1l=

[i,]J]=find(pa>x1-1)

d

ar

(0]

n

al | ;

(0]

al=fits

datal(1: 1:

)

(180
) =

(phi, 100,100) ;

(delta, 100, 100) ;

0;

+ =~ -
[ | I
- — o

- o

d, 100, 100) ;

se(e);

, f 1)

L f2)
n

read ("’
290,

max( max(datal))

mpaOb. fit

1: 1:

512) ;

Y

(2*pal
(2*sal
(2*pi)
(2*pi)
)) -2
180)) ..

pi;
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dataz2=fitsread(' mpa60b. fit"');
pb=data2(1:1:290,1:1:512) ;
x2=max(max(dataz2))
[1,]]=find(pb>x2-1)
data3=fitsread(' mpal20b. fit"');
pc=data3(1:1:290,1:1:512) ;
x3=max(max(data3))
[i,]J]=find(pc>x3-1)
datad=fitsread(' msaOb. fit"');
pd=datad4(1:1:290,1:1:512) ;
yl=max(max(datad))
[1,]]=find(pd>y1-1)
datab=fitsread(' msa60b. fit"');
pe=datab(1:1:290,1:1:512) ;
y2=max(max(datab))
[1,]]=find(pe>y2-1)
data6=fitsread(' msal20b. fit"');
pf=data6(1:1:290,1:1:512) ;
y3=max(max(data6) )
[1,]]=find(pf>y3-1)

fid=fopen('al. m");
data=fscanf (fid,"' %g"' ) ;
fclose(fid);

i =1:5;
x(i)=data(i)./data(i +5);
y(i)=data(i+10)./data(i +15) ;
s=i-3;
pl=polyfit(s,x(i), 1)
p2=polyfit(s,y(i), 1)
tl=s.*pl(1)+pl(2)
t2=s.*p2(1)+p2(2)

ot (s, x(i),"o",s,y(i),"x",s,tl,s,t2)

©
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C )

a p
clear all;
x1l=[1 2 3];
yl=[-1 0 1];
x2=[3 2 1];
y2=[-1 0 1];
pl=polyfit(x1l,y1l,1);
p2=polyfit(x2,y2,1);
x=-3:3,;

-~

1=p1l(1).*x+pl(2);
2=p2(1).*x+p2(2);

t1, x,1t2)

pl ot ( x,

( )
cl ear al | ;
f

id=fopen('x0.txt"');

pa=fscanf (fid,"' %g"') ;
fclose(fid);

O=pa(1l);
60=pa(5);

120=pc(7);

[

I 1 =i 0+
la=(2*i
|l b=370.
phi 1=0.

clear

60+i 120;
0-i60-i1220)./11;
5*(i60-i120)./711;
5*atan( (Il b/ 1 a))*180/ pi

al | ;

fid=fopen(' palOle. txt"');
pab=fscanf (fid,"' %g"');
fclose(fid);

fid=fopen(' pa60le. txt"');
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pbb=fscanf (fid, "' %g"
fclose(fid);
fid=fopen(' pal20l e.
pcb=fscanf (fid, "' %g"
fclose(fid);
fid=fopen('salOl e.t
pdb=fscanf (fid, "' %g"
fclose(fid);
fid=fopen('sa60l e.t
peb=fscanf (fid,"' %g"
fclose(fid);
fid=fopen('sal201l e.
pfb=fscanf (fid,"' %g’
fclose(fid);

for i =1:1:200;

Q=1;

NRP(i)=((2*pab(i)-(
NRA(i)=((2*pdb(i)-(
NTANPHI P(i)=(1+NRP(
NTANPHI A(i)=(1+NRA(

pbb(i)+pchb(
peb (i) +pfb(
i ))/ (1-NRP(
i ))/ (1-NRA(

A(i)=sqrt ( NTANPHI A(i )./ NTANPHI
B(i)=((C1-ACi)). ./ (CACIi)+1));
alpha(i)=0.5*asin(B(i))*180/pi
end

i =1:200;
fid=fopen('test. m" , " w');
fprintf(fid,"alpha:\n");
fprintf(fid," %10.6f\n", al pha) ;
fclose(fid);

type test. m

plot (i ,alpha(i), ' x")

A~ = N N N

—_— N N N N

.l (pab(
.l (pdb(

)
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MATHEMATI CA

()
o A

k= ReadList Q" 2.txt", Nurber Hum?®”
| 5435;
m=1;

7o

S W NN J

B |

\
N -7 ﬂn.
TN
Foip= ’ A D
’ f“ib - -
o - X N
Nap= L4 - 14
"1 _‘ 4 & "‘ L)
- R N o
Fois= | S | P
" w 7 'i[‘ - *
- a ¥ -
lNos= % -"5 ;": :(
fF N7

)

b =2*prh '

't
||

-

i\

Export \oNro%*, \8#0.751009040546", 139 MS0009175™, 13917 226700507737,
13954..810815759261 ™, 13953.560848929905"
13964.414980009175", 13964.414980009175"

| but.dat
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